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KraftfahrzeugeQuelle:[2]
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Problembereich(1)

lokal⇒entferntImFalleentferntausgelegterInteraktionensindmehrFehler-
artenmöglichalsimFallenurlokalausgelegterInteraktionen.

direkte⇒indirekteBindungKonfigurierungwirdzueinemdynamischenVor-
gangunderfordertBindungsunterstützungzurLaufzeit.

sequentielle⇒nebenläufigeAusführungWirklicheNebenläufigkeit(d.h.Par-
allelität)erfordertMechanismenzurSequentialisierungderAktivitäten.
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Problembereich(2)

synchrone⇒asynchroneInteraktionVerzögerungendurchdieKommunikati-
onerfordernUnterstützungfürasynchroneInteraktionenundzurFließband-
verarbeitung(pipelining).

homogene⇒heterogeneUmgebungInteraktionenzwischenentferntenSy-
stemenerforderneinegemeinsameDatenrepräsentation.

einzelneInstanz⇒replizierteGruppeReplikationkannVerfügbarkeit(availa-
bility)und/oderZuverlässigkeit(dependability)bereitstellen,erfordertaber
auchMaßnahmenzurKonsistenzwahrung.
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Problembereich(3)

festerPlatz⇒WanderungDieLageentfernterSchnittstellen(zuFunktionen,
Objekten,Komponenten)kannsichzurLaufzeitändern.

einheitlicher⇒zusammengeschlossenerNamensraumDieNamensauflösung
muss(ggf.bestehende)Verwaltungsgrenzenzwischenverschiedenenentfernten
Systemenreflektieren.

gemeinsamer⇒zusammenhangloserSpeicherMechanismendesgemeinsa-
menSpeicherssindnicht(odernursehreingeschränkt)imgroßenMaßstab
anwendbarundwoentfernteOperationeninvolviertsind.
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